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TSI 35 Multiple Choice

. Find Cif C = P +0.05P and P = 30

(a) C =40.60 (b)

(c) C=31.50 (d)
. Find h(2) if h(z) = —1622 + 32z

(a) h(2)=32 (b)

(c) h(2)=0 (d)
. Find y if y = 31.95z + 0.10m, = = 5, and m = 200

(a) y=199.55 (b)

(c) y=179.75 (d)

Zz
1-—

. Find ¢(2) if g(z) =

(a) g(2)=0 (b)

(c) g(2)=-2 (d)
. Find f(=3) if f(z) = |z — 2|

(a) f(-3)=9 (b)

(c) f(-3)=5 (d)

Find f(-1) if f(z) = 422

(a) f(-1)=-1 (b)

(c) f(-1)=4 (d)

Find f(-1) if f(z) = $2:19

(a) f(-1)=-4 - (b)

© f(-1)=7 (@)
. Find f(1) if f(z) = (z —1)2+8

(a) f(1)=4 (b)

(c) f(1)=38 (d)

1
.Findm—yifa::Zandyz—m

(a)
(c)

DN = Q| =

C =43.50
C = 33.50

h(2) = 12
h(2) = 10

y = 166.55
y = 189.75
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Solve 4z +1 =10

9
(3,) T = —-Zl'

(€) z=
If2z 41 =4, find 122
(a) 10
(c) 18
Solve bz = 12 + 2z
(a) z=1
(c) z=4
Solve 3z = 2(z + 8)
(a) z=2
() z=16
If2z+1=4, find z +2
(a) 2

7
(c) b}

If 4o — 1 = z, find 30z
(a) 40
(c) 10
Solve —2z < 8
(a) z>4
(c) z>—4
Solve 2z < —6
(a) z>2

(c) z< -3

(b)
(d)

(b)
(d)

N W

12
11

<4
T < —4

T <2
T > -3




19.

20.

21.

22.

23.

24,

25.

26.

27.

If zy = k and = = 2 when y = 10, then find = when y=2>5

(a) z=3
(c) z=4

Simplify (3z — 2)(z + 5)

(a) 3z%413z+10
(c) 3z?+13z—10
(2zy*)?

(a) 8z%yS

(c) dz?y®

(B +az)(2z - 1)

(a) —6z+ 3+ 2az? + az
(c) 6z —3+2az? —azx
Find C if (3z — 2)(4z + C) = 1222 + Tz — 10

(a) C=8
() C=5

Factor GCF 4z3y — 22242

(a) 22°y%(2z —y)
(c) 22°y(2z —y)
Factor GCF 4y — 2

(a) 2(2y+11)

() 2(2y-1)

2
Factor % — 64

(a) (3z+8)(3z ~ 8)

z x
© (5+8)(5-3
Factor GCF 822 + 1422 + 12zy

(a) 2z(4a® — Tz — 6y)
(c) 2z(4z% + Tz + 6y)

(b) z=1
(d) z=2

(b) 32213z — 10
(d) 322 — 13z + 10

(b) 16z2y8
(d) 2zy®

(b) 6z+3+2az2 +ax
(d) 6z —3—2az? —az

(b) 2zy(2z +y)
(d) 2z%y(2z +7v)

(b) 2(2y +3)
(d) 2(2y+1)

(b) 2z(4z%+ 11z + 6y)

(d) 2x(4z%+ 3z +v)



28.

29.

30.

31.

32.

33.

34.

35.

Simplify E'):I:ny

(a) 2z+1
() 5z +1
8n +4

Simplify

(a) 2n+5
(c) 2n+1
Solve 2z(z +5) =0

(a) {f2’ 5}
(C) {07 _5}
Solve 222 + 52z — 12 =0

o {49
o (34

Solve 3z2 + 13z = 10

(a) {-3,5}

2
© { 2 —5}
Solve 222 = —72— 3

(a) {-2,-3}

o (49

Solve 822 — 1 = 7x
o i
o {4}

Solve 22 + 8z 4 11 = 0 (use Quadratic formula)

(a) {1,11}

(¢) {-4-+5—4+5}

3z +1

{-7—5,-7+/5}
{—4—-Vv2,-4+ 2}
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